log [dY,

WLH €7AM/EYIMPIBWAIR)~/SY"09 61T 0ET//-dNY S3|l} J

—
®
(@]
>
2.
o
=R
o]
=
o
=
3
QD
=
o
=
=
=

©
§

o
o
o
Q
3
o
@D
o
=
=
=

°
=
=Y
w
o
[E=Y
N
©
(o2]
o
S
al
~
X
Q
=
o
3
@D
=4
=

-2,0
-1,0 -
1,8
WE430-7N_2

]

e
05 0,0
36 18

0,5 0,0
3,6 18

0,5
90

0,5
90

0,5
90

0,5
90

Rtip://130.149.60.45/~farbmetik\WEA3/WEA3LONP.PDF /.FS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/

dY=Aq[1+A,/A,Y]

0.0 Tfor achromatic colours X dY, Y
in TM-direction

-1.0 0.0461.8
-0.5 0.0625.6
0.0 0.11318.0
0.5 0.27556.9
1.0 0.785180
AylA; =0.106
A;=0.0391 A =0.004
A3=2507 A =0.556
Kittelmann_PO4_068A
(x,y,Y)=(0,33, 0,36, 18)

1,0 X=log[Y/Yyq
180 Y

dY=A1[1+A/A1Y]
Sy=dYcieLas/dYinD=7-2
X, dY, Y
-1.0 0.04618
-0.5 0.062 5.6
0.0 0.113 18.0|
0.5 0.275 56.9|
1.0 0.785 180
A,JA; =0.106
Ay =0.0391 A =0.004
A3=2.507 A =0556
Kittelmann_PO4_0684
(x,Y)=(0,33, 0,36, 18)

1,0 x=log[Y/Y.d
180 Y

dY=A[1+Az/A;Y]
Sy=dYcieLas/dYinD=7-2
Y
1.8
56
18.0)
56.9
180
AjlA; =0.106
A,=0.0391 A =0.004
A3=2.507 A =0556
Kittelmann_PO4_068A
(xy.Y)=(0,33, 0,36, 18)

1,0 x=log[Y/Y.d
180 Y

AY=AJ[1+A,JAY]
Sy=dYcieLas/dYinD=7-2

Ay /A, =0.106
A;=0.0391 A =0.004
A3=2.507 A =0.556
Kittelmann_PO4_068A
(x.y,Y)=(0,33, 0,36, 18)|

1,0 X=log[Y/Yyq
180 Y
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for achromatic colours
in TM-direction
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TUB-test chart WE43; Colo
5 achromatic samples; TM-
M

90

0,5
90

0,5
90

0,5
90

-0.5 0.062 0.75
0.0 0.1131.25
0.5 0.2751.75
1.0 0.7852.25
AglAL =
A;=0.0391 A
A3=2.507 A =0.556
Kittelmann_PO4_068A
(x,y,Y)=(0,33, 0,36, 18)

x,=log[Y]
180 Y

dY=A4[1+A,/A Y]
Sy=dYcieLae/dYinD=7-2
Xy dY, logY]|
-1.0 0.046 025
-0.5 0.062 0.7%
0.0 0.113 125
0.5 0.275 175
1.0 0.785225

AjJA; = 0.106
A;=0.0391 A =0.004
A3=2.507 A=0.556
Kittelmann_PO4_068A
(xy.Y)=(0,33, 0,36, 18)

1,0 x=log[Y/Y.q
180 Y

dY=A[1+Ag/A;Y]
Sy=dYcieLap/dYinD=7-2
X¢ log Y
-1.0
-0.5
0.0
0.5
1.0
A,JA; =0.106
A;=0.0391 A =0.004
A3=2.507 A=0.556
Kittelmann_PO4_068A
(x.y.Y)=(0,33, 0,36, 18)

1,0 x.=log[Y/Y.q
180 Y

dY=A4[1+A,/A Y]
Sy=dYcieLae/dYinD=7-2

Xy

-1.0

-0.5

0.0

0.5

1.0

A,JA; =0.106
A;=0.0391 A =0.004
A3=2.507 A=0.556
Kittelmann_PO4_068A
(x.y.Y)=(0,33, 0,36, 18)

1,0 x=log[Y/Y.q
180 Y

hreshold datatelmann

0,
-1,0

0,0
-1,0

0,0
-1,0

Jidy

in WN-direction

IN=3 85 dY=A1[1+A,/A1Y]

Tfor achromatic colours X dYn Y

-1.0 0.0461.8
-0.5 0.0625.6
0.0 0.11318.0
0.5 0.27556.9
1.0 0.785180
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A /A7 = 0.106
A;=0.0391 A =0.004
A3=2.507 A =0.556
Kittelmann_PO4_068A
(x,y,Y)=(0,33, 0,36, 18)

1,0 x=log[Y/Y,q
180 Y

dY=A4[1+A,/A1Y]
Sy dYcieLae/dYinD=7-2
X dY, Y
-1.0 0.046 1.8
-0.5 0.062 5.6
0.0 0.113 18.0
0.5 0.275 56.9)
1.0 0.785 180
AjJA; = 0.106
Ay =0.0391 A=0.004
A3=2.507 A=0.556
Kittelmann_PO4_068A
(xy.Y)=(0,33, 0,36, 18)

1,0 x=log[Y/Y.q

dY=A4[1+A,/A Y]
Sy=dYcieLae/dYinD=7-2
Y
18
56
18.0
56.9)
180
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'WE431-5N_2
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1,8 36 18 90
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A /AL = 0.106
A1=0.0391 A =0.004
A3=2.507 A=0.556
Kittelmann_PO4_0684
(x,y,Y)=(0,33, 0,36, 18)

1,0 x=log[Y/Y.d
180 Y

dY=Aq[1+A,/A Y]
Sy=dYcieLae/dYinD=7-2

Xy

-1.0

-0.5

0.0

0.5

1.0

A,JA; =0.106
A;=0.0391 A =0.004
A3=2.507 A =0.556
Kittelmann_PO4_068A
(x.y.Y)=(0,33, 0,36, 18)

1,0 X.=log[Y/Yyg
180 Y

input; w/rgb/cmyk —> w/
ange; 4 constants Ai; Comparison with

/cm
IELAB and CI

0,0
-1,0

0,0
-1,0

0,0
-1,0

)y

in WN-direction

Tfor achromatic colours X dy,

n logY
-1.0 0.046 0.25
-0.5 0.0620.75
0.0 0.1131.25
0.5 0.2751.75
1.0 0.7852.25

b

0,0
0,25 0,75 1,25 1,75

18 36 18 90
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A,lA; = 0.106
A;=0.0391 A =0.004
A3=2.507 A =0.556
Kittelmann_PO4_0684
(x,y,Y)=(0,33, 0,36, 18)

2,25 x,=log[Y]
180 Y

dY=A1[1+A,/A1Y]
Sy dYcieLap/dYinD=7-2
Xy dY, logY
-1.0 0.046 ©.25)
—0.5 0.062 0.75)
0.0 0.113 1.25)
0.5 0.275 175
1.0 0.785 225
A,JA; =0.106
A1 =0.0391 A =0.004
A3=2.507 A=0.556
Kittelmann_PO4_068A
(xy.Y)=(0,33, 0,36, 18)

1,0 x=log[Y/Yyq
180 Y

AY=A[1+Az/A;Y]
Sy=dYcieLap/dYinD=7-2
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A lA; =0.106
A;=0.0391 A=0.004
A3=2507 A=0.556
Kittelmann_PO4_068A
(x,y,Y)=(0,33, 0,36, 18)

1,0 x=log[Y/Yyq
180 Y

dY=A1[1+A,/A1Y]
Sy=dYcieLap/dYinD=7-2

Xy

-1.0

-0.5

0.0

0.5

1.0

AyJA; = 0.106
A, =0.0391 A =0.004
A3=2.507 A=0.556
Kittelmann_PO4_068A
(xy.Y)=(0,33, 0,36, 18)

1,0 x,=log[Y/Yyq
180 Y
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